//hyu.wiki/%EA%B7%B8%EB%A0%88%EA%B3%A0%EBY%A6WACKHEBIAO%AS

=

Jg|ng|=

J2f| 02| (Gregorian calendar)2 M MAMOE E&E=YH( )2=F,,1582H0| v J2|12|2 13
M7t 22[RAE S I -GS0 o] HHE AU mf 2o 1 |n2[zol2tn #E2Ct

22|2A FIO|AETL 7| 460 MM 22|2A 2 4H0ICH 28 29202 FItstE A2 FAEH, 822
A2 14 20|= 365.250|2 2 MES| 31| H 365.2422L H L 0.0078Y (112 14%)0| Z0{A{ 128 HDOC}
1Yo WAL STt T2 02|22 2|RAZ Ol 0|2{% HHES Hatst HHOZ 1582 10¥ 4 wy 2|12
2 13Ml= 22|2A22 40001 M 3Y (M Hel 2H)S glol= WHOZ o|F sHARICE J2|n2|=el 14 Zo|

= 365.2425%0|2 2, MZto| 3| F{HECH0.0003Y(26)0| Z11 9f 3,300 A0 14| TXE7t LCL,



